Solution to Puzzle #112 — September, 2010 "Connections"
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The letter sequence AND (in parentheses in the list below)
is replaced by & in the grid above.

Across
AMPERS(AND)
FORM
C(AND)OR
ITALIC
MURRE
SPLASH
EMIT
STARVE
H(AND)EL

. STEREO

. PEEN

. CITRON

. REAR

. (AND)IRON

. LEHAR

. DOGE

. WEED

. ANTE

. VANE

. WEAR

. OTTER

. WRASSE

. P(AND)ER

. SCAND)WICH

. PEER

VPN N RN =

NS T NG T NG T NS I NG T N S e e e e T U W Gy
NP WN—=OOOOINWND WND—O

Down

WPNAN RN =

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

ACUMEN
(AND)OVER
M(AND)RIL
CIGAR
SPORT
SIREN
W(AND)ER
EST
TOWER
WRIST
ERNE
WAIST
PAROLEE
SC(AND)AL
RENE
DASH
FLAVOR
HARE
POISE
PEANO
PERCH
HEART
T(AND)EM
ME(AND)ER
DETER

Kevin Wald solved the puzzle in 35 minutes.



